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+tEF—TH 807 112 793[ 1,565 |HE=TH 1,492] 1,795] 1,804[ 3,599
LEFE-TH 868 880 891 1,771 [HREMTH 805 829 940{ 1,769
hT—TH ,002] 1,585] 1,952| 3,537 |RERTH 1,125] 1,253] 1,374] 2,621
THIZ=TH ,590( 1,416] 1,596] 3,012| [FEXRXTH 838 158 755] 1,513
HEF—TH 188 902 904| 1,806] |BFE—TH 1,326] 1,277] 1,342[ 2,619
hEF_TH 552 637 676| 1,313| |FFE_TH 661 528 671] 1,199
HEF=TH 680 849 870| 1, 719| |H&E=TH 455 500 507] 1,007
PEFMTH 849 874 995| 1,869| |FFEMMTH 688 740 790] 1,530
HEFRETH ,043] 1,151] 1,237] 2,388| |FFi &R TH 1,203 1,010] 1,110 2,120
TEF—TH 947] 1,077| 1,150 2,227| |#AlL—TEH 1,844] 1,497) 1,717 3,214
TEF-TH 361 411 430 841 ML=TH 1,501] 1,228] 1,298 2,526
TEF=TH 138 136 113 249| MML=TH 880 130 8717] 1,607
TEFMTH 232 218 280 558| |MME—TH 1,663 1,589] 1,883| 3,472
TEEFETH 248 307 312 619 |ME=TH 1,599] 1,471] 1,766 3,237
TE—TH 955 812 740[ 1,552 MME=TH 1,504| 1,563] 1,664| 3,227
TEZ=TH 554 695 690( 1,385| |#BE—TH 13 92 16 128
TE=TH 201 250 258 508| |#BE_—TH 518 445 493 938
EBAE—TH 459 521 519| 1,040 [(#EE=TH 1,121] 1,085] 1,104 2,189
BAEZTH , 383 1,024] 1,158| 2,182 |;B#HmEET 36, 686[35, 954(38, 775|174, 129
EBAE=TH 221 335 335 670
EBAEMTH 55 88 14 162
EBAERTH 560 474] 455 929
BAENRTH 266 357 364 121
FE—TH 906 970{ 1,022| 1,992
FE-TH 119 803 790| 1,593 |#8&&t 36, 686[35, 954(38, 775174, 129




